SECOND TERM EXAM 2007
Class : X MATHEMATICS
BINOYI PHILIP, GHSS KOTTODI 9446270923

1. (a) @™ aieeel 2690w emilaz B(7, 3)

(b) A(5, 3), B(7, 3) apam1 nl3enud maile)ss @Guaelo = |7 -5 | =2 Qemlg”

2. (a) < OAP = 90° ( GO H®ISOIOWO GaITGAD EHIETD
90° @ryern”)
(b) AP> = OP? - OA?
- 52 _ 32
=25-9=16
AP=V16 =4 cm

3. V0aECWYMI = _ 1 4 | T e,
11 11 11
(a) @RgO® alBo = _10
11
(b) @GRBY aJBemavoaIyd aldo =22 = 2
11

4. <AOB =120°
O ©1@d Mmoo AB wlcelg)” aloslalasam elognimdem” OC
< OAC =30°
<AOC = 60°
OA = 3 cm eno®ImIa3

OC=1.5V3
ie AB=2x1.5V3=3V3cm

5. (a) YDA AN MIB2EHIMVICWIUI] 2] YODICWTN]HIF BRYOQJ YT lleQeS 2IG10JWO0o

@e1yn0W161R0o
iel =12 cm
b)_r =_x
1 360
r = lxx = _12x120 = 4cm
360 360




6.(a) 0(0,0) , B(12,5)
(b) OB= Vx*+y>= V12°+ 52 = V 144 + 25 = V169 = 13 qem1g’

7.2V6 =V 24
P
OR
[»]
276
A g E
AC =6 T CB=4
8. <PAB = 50"
<AQB = 50° (69501000 6V MAHTEIETRIG:AT GBHI6M m26M1O3 AQEUIMLOB]HEI GHHOEMIM”
@elynoem”)
<AOB =100°

< APB = 80°

9. QIEBEHS ag)sPo N ARYWIES flH:BANEBROS ag)siRo = N(N — 3)
2

ie n(n-3) =104
2
n(n—3) = 208
n’—3n = 208
n’-3n-208=0
n=-b+vb’>—4ac
2a
=3+V3%2_4x1x208
2x1
=3+V 841
2




= 3429
2
n=16 ORn=-13
QIUOEBBEOS af)sPo = 16

10.

as@1ed6mo ABC @@

_AC = tan35°

AB

AC = AB x tan 35°
=3x0.7
=2.1m

ie aBeMmIQeSs d8go 0@ Moo
2.1 0193 pacenem

11.
PB =4 cm
AB=5cm

(@ PA=PA+BA=5+4=9cm

(b) PS? = PB x PA
=4x9=36
ie PS =136 =6 cm

PT? = PB x PA
=4x9=36
ie PT=v36 =6 cm

=1
A ‘
P

12. aiyparvomlead erwmilgenyd (1, 3) 0o (11, 3)
(@) agomvomlend Mgo = |11 —1|= 10 Qemlg”
(b) oo ed@o = (X1 + Xo, Vit yo)= (1+11 , 3+3)= (6,3)

2 2

8@ a3 (X, 0) ey
(x-6)*+(0-3)*=5°
(x—-6)*+ 9=25
(x-6)?=25-9=16
x-6=V16=4
x=4+6=10
a8@ enflaz (10, 0)

2

(€) o100 10 QMY EROIMITS @Yo 5 QMg BRYVIGIWo
ie QO®EH@OIEE MIMoo 5 QeM1Y” ERGHEOLIQSS MNGHNOSLI00 0IEDONLNIGIYo.




13. @emoemomIead alweesud a =9 cm, b=10cm,c=17 cm
(@) ajggar=a+b+c=9+10+17 =36 cm
(b) S=a+b+c =36=18
2 2
aloajgal= VS(S—a) (S-b) (S-¢)
= V18 (18 -9) (18 - 10) (18 - 17)

=V/18x9x8x1
=36 cm’
(c) a=45cm,b=5cm,c=8.5cm

S=9
aloajsal’= VS(S—a)(S—b)(S-c)

= V99— 4.5) (9—5) (9—8.5)

=V9x45x4x0.5

= 9cm?

14. (a) <P = 125°
<Q=90°
<R =55°
(b) 8@ YomO®OA} QIYVe B QIKAIWV] (@EHI6Mo NIV2J03 FANINOB U31BaHo QYTTHGN]

e1009m @1 @y ¢H26m 90° Do YODOBIM o JoomIneM®s103 90° @3 ©:0040
QYOO TN SHODISEMNE: @3 90° @3 exsmele @RWI1BIYo

15.

O®IFAI0H8eS Mgo = 6.3 cm




16.

L
A B

05 @16&96mo BCD @@3 CD = tan 60°
BC

CD = BC x tan 60° ... 1)
05 @1ed26mo ACD ©l@3 CD = tan 30°
AC
CD = AC x tan 30° ... @)

(1) & (2) ==> BC x tan 60°= AC x tan 30’
BCx V3=(20+BC)x 1 _
V3
BCx3=20+BC
3BC-BC =20
2BC =20
BC=20/2=10m
(1) ==>CD=10xtan60°=10xV 3 =10V 3 m
sanlon oweo = 10V 3 m
OR
sainlead oo h = axtan Ax tan B
tanA — tanB
= 20 x tan 60° x tan 30°
tan60° — tan 30°
= 20x V3x 1
V3
V3-1
V3




17.
(@) =x+y=180"-90°=90°
(b) sin x = ag@Balvno
H@6Mo
=AB_
AC
Ccos y = aualal0igdo
@60
=AB
AC
ie sin X = cos 'y
(c) sinx=cosx ==>AB=BC
ie <A =<C
X = 45°

18. cvaoamoewyeml -- 4. 10. 16 .......
(a) ®ar0@ay®myomo d =10-4 =16
(b)) Xn=6n-2

Xu=6x11-2=64
(c)Sn=3n’+n
Sn=3x21°+21
=3x441+21
= 1344

(d) 10, 16. 22 ........ a)am M2MEEWHMIQes 20 azamsges @ = 4. 10. 16 ....... af)am

TL20MEEWHIMIWes 20 a13emBgos @ —4 = 1344 —4 = 1340

19.
(a) OP = x eGpwocd
OB=9+x
0Q=0C-QC
=0B-5
=9+x-5
=4+x
(b) AO x OP =0Q2
(9 +x)x = (4 +x)°
9x +x* =16 + 8x + x?
9x —8x = 16
x =16
aleflo Qomomleng @yoe OB =16 + 9
=25cm




20. (a) 8® aeslead mlgo a = 10 cm
QUIRHBOS ARYOH Mgo = 8 X 10 =80 cm
(b) a108wos a1e9’e = 10 cm
21010J@0o | @RI
e’ =1+ (a/2)
1?=¢’- (a/2)?
=10°-5°
=100-25=75
1 =V 75=5V3cm
9alBl®el aloajsal = a® + 2al
=102=2x10x5V3
=100 + 100V3 = 100(1+V3) cm?

21. (a) 2 a3 60 aseEElemos’ 2 ©§ Ao @51IEE B;15aM avoaly = 2 X 60 + 2?
=120+4 =124
(b) X 8@ ag)eM@ MVoGIY ERYWIG
x X 60 + x*=2016
x* + 60x = 2016
0@ QIEo QIBYo @] ajowd
x* + 60x + 900 =2016 + 900
(x +30)* = 2916
x +30 = V2916 = + 54
x=240Rx=-84
X 8@ af)siN@ MVoaly GRYR@IMIGS X = 24

22.

AB =10 cm
BC =25cm
<ABC =50°
<ADC =135° B

<ADE = 45°

ns@lea06mo ABC ©1@3 AE = sin 50°
AB
ie AE =AB xsin50°=10x 0.77 = 7.7 cm
(@) at0asal’= ¥5bh =% x 25 x 7.7 = 96.25 cm?
(b) _BE = cos 50°
AB
ie BE=AB x cos 50° =10 x 0.64 = 6.4 cm




n5@Ned6mo AED 0l@d <ADE = 45°, <DAE = 45°, AE = 6.4 cm
ie ED=7.7 cm
DC= AC — (BE + ED) = 25 — (6.4 + 7.7)
=25-14.1=109 cm

Clo, 3v3)

(b) < OAC = 60°
<ACO =30°
AO = 3 @emly”
ie CO = 3V3 qemlg”
Moo geIes ayaldavealy = C(0, 3V3)

24.

@Roo = 1.8 cm




25. (a) < B = 180° — (60° + 75°)

=45°
(b) AB = 5V2 @rnoeImocs
AD =5
BD =5
AD =5 cnooImoad
DC=_5_
V3
AC=10_
V3
(c) BC=BD + DC = é £
- D S5K3
V3
=5V3+5
V3
AB:BC:AC= 5V2: 5V/3+5 : 10
V3 V3
=5V6:5V3+5:10
=V6:V3+1:2

26. (a) <PCD + < PDC = 180° - 70°= 110°
(b) <ACD + < BDC =360 — 110 = 250° (231250 0ME" QIEMHHS H@IFAN YOMOHOF GH(Bo
QIOHHUB GaI@AD EHIEMIHAZ TLARIZWILIN6M)
ie <ODC = %< BDC, < OCD = %< ACD
<ODC + <OCD = %< 250°=125°
(c) <AOB=180-70=110°
<COD =180 — 125 = 55°
<AOC = 25° apo®1mocs
<BOD = <AOB - (<AOC + <COD)
=110° - (25° + 559)
=110°-80° = 30°

27. ai@l0j@oo 1 =13 cm
alosalss” a =10 cm
(a) 9woo h eI
h?* = 1> — (a/2)?
=13°-5°
=169 — 25 =144
h=v144 =12 cm
(b) a10dwoinI0e’ e @RYWITS

e’ =12+ (a/2)’

=13*+5°
=169 + 25 =194




alodwlales” e = V194
(o) h?, I, e* ==> 144, 169, 194
DI HAIDDAUY®LOTVo 25 BRYRQ TVAIMNOEUYEMIW]OELI al36BBBI6M
(d) aw MDD O NSHQOS DV0 , 21G1OJQ0, a1dBURIAISE DAIYSS AIBREERUS
VAN OGUYEM 1 1elnam.
ie h?, I, e avmoamecuyemlalenem’,
7,12, 11 avmommocyaemIolensm.
1’=9
21010)@r0 1=V9 =3
,/’(J)_I']ce:@%o d erwIwd

(d/2)? = e — h?

=11-7=4
d2=2
, d=4 \
\a1080109° a = 4/V2 /
2 = b + (a/2)?
=7+ (2W2)
=7+ 2=9
| aloloj0o 1=v9=3 Y.
28. AL 5)
Bl -2, 1} .D

(a) AB @os Mo = V(X2 — X1)* + (y2 — y1)?
=V(1--2)+(5-1)




=V32+42=V9+16=V25=5
(b) BC, X @rauomlan mumamea@@lmocd C @es ayaldavoaly (X, 1) crnolclgoe
AC @os mlgo = V41
ie V(x2 —x1)* + (y2—y1)* = V41
ie (x2—x1)° + (y2—y1)* =41
x-1)2+(1-5)2 =41
x-1)2+16=41
(x-1)2=41-16=25
x—-1=V25=5
Xx=5+1=6
ie C Qs amyalsavoaly = (6, 1)
(c) BC @ etosnimaem” AD.
ie A @os X MyaldToaly@o D @es X ayaldrvoaiy@oe @elyndoldlgo

ie D @es agaidsavoaly = (1, 1)

29. 1=1
1+2=3
1+2+3=6

1+2+3+4=10
1+2+3+4+5=15
1+2+3+4+5+6+=21

(a) 1, 3. 6. 10, .... aga» @1EHITMIVoRILVIOE! BRSO aldo = 1 + 2 + 3+ 4+5 =15
(b) @ReO2OED MVAsI@EMoaty = 10 + 15 = 25
(0 1,3,6,10, ..........

@1EHIEMAVoa DSOS MARNMI® @Galo =0 + 1)

2
(d)1,4,9,16,25, oo,

MA2IDOMVRIL BSOS MIRWMI® @alo = n’

() 8aMIDOED @1EHITMNAVoAILWe BMNBIVHON @BV IV MANIEISE AlY® IV =2




QNI (@1GHIEMAVoEIQe PANINET (@] GHIEMAVoaI Qo GIMNIEISS QY@ YTV =3
RANINOOD (@ EHITMAVRILWo MILNAODT (BH1EHIEMAVoRI Qo @ANTEISS QIy@ 00V =4
DD GalINHEl MGaIOD] BANINHOED (@]1GHITNAVo6U W0 DTBaIGINO (@) 1GHITMAVo6 Qo
®oe)8s alymyoTvo = 21
ie y—-x=21
(f) 50x51+51x52 8@ MRaIDAMVoRIY BRYSEMEITI
2 2

51 x52 +52x53
2 2

@RYO AVA2IDOIVoEIY

2704 cRyoldlgo.




